= LIAF I SIE gl= 8 Y8 237 EIRIB

J

= 8Y/HMIZ olo|x]

==
=

ICH 9° OIS & = QU =X5H7
&t 7Lt ZO| 7L} x|E4E 4 of

0F

OlMIeH LEAHALS Sall E5] 2 22 A3 70| O|M =Ho| 7ts .

[
A -
= ] 3\.\ B
Vs
13
|
L2
£ 20t
FEHS Et2] D1 D3 L2 =9 SW =5t
max. kN
(8™ 23t

K0382.20406 B M4x0,5 1,3 5,6 2,5 2 35
K0382.20410 B M4x0,5 1,3 9,6 2,5 2 35
K0382.20508 B M5x0,5 2,2 7,5 3 2,5 45
K0382.20512 B M5x0,5 2,2 11,5 3 2,5 45
K0382.20610 B M6x0,5 3,2 10 4 3 9
K0382.20612 B M6x0,5 3,2 12 4 3 9
K0382.20616 B M6x0,5 3,2 16 4 3 9
K0382.20620 B M6x0,5 3,2 20 4 3 9
K0382.20625 B M6x0,5 3,2 25 4 3 9
K0382.20810 B M8x1 4.1 10,3 55 4 10
K0382.20820 B M8x1 4,1 20,3 55 4 15
K0382.21012 B M10x1 5,6 12,3 7 5 20
K0382.21025 B M10x1 5,6 25,3 7 5 20
K0382.21216 B M12x1,5 7 16,2 8,5 6 30

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



JlI=e LAl as=Egi=sE e

= ADR EHRIB

Z= 0
FEHS EtQJ D1 D3 L2 E-0 SW E
max. kN
(R 23
K0382.21230 B M12x1,5 7 30,2 8,5 6 30
K0382.21620 B M16x1,5 10,7 20 12 8 60
K0382.21635 B M16x1,5 10,7 35 12 8 60
K0382.22030 B M20x1,5 13,5 30 15 10 90
K0382.22040 B M20x1,5 13,5 40 15 10 90

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/2



